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In a right triangle, the square of the h
the sum of the squares of the lengths of

ypotenuse, ¢, 1S egual to
the other two sides, @
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Solve. Round decimal answers to rh{nearest tenth

In a softball game, how far must the
7 catcher throw to second base?
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@k How long must the brace be on a closet

rod holder if the vertical side is 17 cm
and the horizontal side must be
attached 30 cm from the wall?
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yIfBriny 1s 32 miles dué east of Oxford
and Myers is 21 miles due south of
Oxford, how far is the shortest
distance from Myers to Briny?
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The shorlest distunce

In a baseball game, how far must the
shortstop (halfway between second
base and third base) throw to make an

out at firs base?
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